consequently then so this leads to

Cause and Effect

Signal words help us spot for this reason . thus ___
cause and effect relationships. I I

due to if therefore because

1. Use signal words to help identify cause and effect relationships in the text.

lvory

Ivory is used in ornaments, jewellery and even some traditional medicines. Ivory is therefore considered a
precious material by some people. Ivory is found in the tusks of elephants. Consequently, poachers kill
elephants to take their tusks. They then sell the tusks on the black market.

Because of the great demand for ivory, the number of elephants in Africa and Asia has reduced
significantly. There is now only a small fraction of the elephants that there once was. Approximately
50,000 elephants remain in Asia, and less than half a million in Africa.

For this reason, many wildlife organisations have been working on ways to stops poachers. One strategy
is to encourage people to avoid buying ivory products. If people refuse to buy ivory, poachers may stop

killing elephants.

2. Show the cause and effect relationships you found in the text.
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Cause and Effect

Answers

consequently then so this leads to

due to if therefore

since

for this reason thus

because

as a result

1. Use signal words to help identify cause and effect relationships in the text.

Ivory

Ivory is used in ornaments, jewellery and even some traditional medicines. Ivory is therefore considered a

precious material by some people. Ivory is found in the tusks of elephants. Consequently, poachers Kkill

elephants to take their tusks. They then sell the tusks on the black market.

Because of the great demand for ivory, the number of elephants in Africa and Asia has reduced

significantly. There is now only a small fraction of the elephants that there once was. Approximately

50,000 elephants remain in Asia, and less than half a million in Africa.

For this reason, many wildlife organisations have been working on ways to stops poachers. One strategy

is to encourage people to avoid buying ivory products. If people refuse to buy ivory, poachers may stop

killing elephants.

2. Show the cause and effect relationships you found in the text.
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There is a demand for :>
ivory
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ivory products
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(" effect
Ivory is considered
precious
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(" effect )
Poachers kill elephants
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Ways to stop poachers
are considered
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Poachers stop killing
elephants
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